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QUESTION 1

Why would IBM Spectrum Protect Plus form part of an overall system design in IBM Cloud? 

A. It provides a solution for system log analysis and alerting, protecting systems from unplanned downtime 

B. It provides a solution for data protection, data reuse, and data recovery for virtual environments 

C. It provides a dedicated government-only compute environment with built-in quantum-level encryption 

D. It provides a `Premium Plus\\' support package for customers with ultra-business critical workloads 

Correct Answer: B 

 

QUESTION 2

What is the function of the IBM Cloud File Storage Capacity Expansion feature? 

A. It is used by the IBM Cloud Storage users to regenerate data storage that may have been deleted 

B. It is used by IBM Cloud Storage users to manage data flow 

C. It is used by IBM Cloud Storage users to expand their file storage immediately 

D. It is used by the IBM Cloud Management team to manage file storage capacity 

Correct Answer: C 

Reference: https://cloud.ibm.com/docs/FileStorage?topic=FileStorage-expandCapacity 

 

QUESTION 3

Which IBM Cloud service makes it possible to troubleshoot logs in real time to diagnose issues? 

A. IBM Log Analysis with LogDNA 

B. IBM Cloud Monitoring with Sysdig 

C. API Gateway 

D. Portworx Enterprise 

Correct Answer: A 

Reference: https://cloud.ibm.com/docs/Log-Analysis-with-LogDNA?topic=Log-Analysis-with-LogDNAgetting-started 

 

QUESTION 4

What is a key requirement of a resilient architecture? 
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A. High rate of resource utilization 

B. Low rate of resource utilization 

C. High tolerance level for interruption 

D. Low tolerance level for interruption 

Correct Answer: D 

 

QUESTION 5

A high profile business customer has two security concerns for their new public application workload on IBM Cloud,
security of the application at Network Layer 7 and DDoS. Which IBM Cloud solution should be deployed to mitigate
these concerns? 

A. Global Internet Service 

B. Hyper Protect Service 

C. Cloud Internet Service 

D. HyTrust Protect Service 

Correct Answer: C 

Reference: https://cloud.ibm.com/docs/cis?topic=cis-distributed-denial-of-service-ddos-attack-concepts 
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